BRS R REAY 2R ER Y Lg i T EE

—., FBE(FHEHA)

( D)l.e & g & K- A=(15a+8)*+14(15a+8)+49 >
L fi:"—*‘@_*%‘?
(MDA \»115 12 #ic
(C)A & F_225 eniz
( C)Z T 75 !ry:z‘f IF’J‘ r‘?

(B)A & &_25 e} #&
(DA & Z_T i3 #i

(A) =4ira ﬂrjfﬂt Al at]l 23 #
(B) = &bi g B 2btl » I F Kk

(C) & awontl ¥4#, 7 2n-1~ 4%
(D) & Frad i, b F ¥ P atlb eI ¥
(3.7 et e 4§ 327
(D% a~b 5 i a>bofl %>%
B)# a ind pl &
(O #en ~ L4 4
D)a~b 58> % a>b> Bl a>b
( MDA 4eB(- ) & e §35 ABDE~ ACFG 325

4 iz

=25,

RIAAEC = NABG R34 i 2 % 1772
(A)SAS

(B)RHS (C) AAS (D) SSS

A

D E

¢ ®(-)B CRI(=)
( B)5.4rB(= ) BE 5 £ABC ¢h& T i > DE// BC
FNADE 0% £ 5 100 BE=5- |7 slfcitp ¥ 3
- i FE?
(MABDE 5 5= &2
(C)AABE % £ =15 (D) AADE~ AABC
( C)6.4®(=)> =35 ABCD % & =35> DE LCE > CF //
DE » BF// CE » % DE =7 CF =24 ]| 7|4
e A - R FE?
(A)ABCF = NADCE

(B)AABC & % "%z & 4]

(B)X = 2 ABCD @ 5=625

COzl=22 =23 (D) =35 ABCD =% £ =100
A
B I3 A
D /0\
2
T R(Z) CH(z)

deBl(e ) 3 &= 4735 ABC® » £4=90" > AB =5~
AC =12 w % T7~9 3
( BDT.#0% % &= &7
13
(A2 (B) 5
L3P &z &7 ABCmF\m»EJA
13
B) — C) = 22
(B) 5 ( ) 3 (D) 2
( 0)9.%2G5% &= 425 ABC chE s » B|GA=
W2 B % ©) % D) 242
( O10. = it in % & FE?
(Mg &= 250 S Bz & 250028 o
(B)E = &35end w Bz £ 35048V gL}

(C)_[[E’i-_:_ ﬁ-qﬁé’ﬁf’l‘ N ,§_113F\ 2%
(D)= &2 enth s FM A = & A0 30

ABC h#h s > ] OA=
@)5 D) 242

( D8 #1
(A)2

wE P = 5T Bt
( ML AABC # > ¢ 50 A=T0" > £B=50" -

% 0 25 AABC er¢bws > F 2ZBOC=

(A140°  (B)100°  (O)120°  (D)125°
( D)I2.AABC # » & & 2A=T0" > £ZB=50" >

% 1 8.3% AABC hp s » £ /BIC=

(A)140°  (B)100°  (C)120°  (D)125°
weB(I) > AABC ¢ » AB=AC=13>BC=10> AD 3
b ehg oo w E 13~15 4K

BC

( M13. % 0 85 NABC 02t » RAABC cheh B2 22
169 10
AN — B 3 ) 8 (D) 4
( B)H14. & p—y;léﬁﬂ&?ﬁp&:«ﬁﬁﬁ&wﬁwhﬁi
Vil
169 10
AN — B 3 (C) 8 (D) 4

( B)IB.?AABC L R AABC s 0 GBS AABC HhE
S Fs oy I ¥
(A) AIAB & # : AIBC & # : AIAC & f=1:1:1
(B) AGAB & # : AGBC & ## : AGAC & #=1:1:1
(C) AGAB & # : AGBC # # : AGAC & #=13:10:13
(D) 142G 5 - B

y A (€} B
s
E
O
? D ”@( ) D 3 CRI()

(A)16. 4wB® (= ) £ =25 ABCD * » AG =BG » DF=CF >
ZHI=8> AH =10 » T gt e 43R
(A)HF=HE (B) DH=8 (C) AF=15 (D) CI=10

( DIT.4cH(=)>D s ABeh? 8> C % BE¢h® 8> DE &
AC % F 8. £NACEF % 4 5 120 BI7 54
it e K7

(A) AABC = /\NEBD
(C) AABC i #% 5 24 (D) AF :

(B) ANADF~NEFC
FC=2:1

A
A D
D
B
B C Eg (=) B Comen)
( BOI8. 4eBI(~)» X5 ABCD ® > L~ [, » %5 NABC &

AACD cp s » AB=24> BC =T+ LABC= 2 ADC=90"
PIT Pt e B FE 2

) Tk _12&3 (B) =6 (C) BD=24 (D) BD=18

AT G 14— AABC ¢ B HEA Y S A, 8)
B6 ,0)~0,8) w ¥ 19~20 42
( B)19.% 0 3 AABC eravh s » P O BER: 12§
1
D4, §> BG4 (22 D) 6)
( D)20. 1 2 AABC eph o > B [ BEE: 2§
1
) @, ?6> BY3.4) (22 (D)4 6)

FLAMBLA



